
Surface Prop. Matls 525     Professor Garofalini 

HW due Oct 8 

1. The table below gives the mass attenuation coefficients for a list of elements (labeled 

absorbers) of specific energy photons (given in the line labeled ‘ENERGY’). Using 

this table, calculate the depth at which the relative intensity of the photons (Ix/Io) 

equals 1e-90 for the Ca absorber with a density of 1.53 g/cm3. Provide a type-written 

answer for each of the incoming photon energies for Ca as the absorber. Finally, relate 

the photon depth with possible photoelectron escape depths. 

 


